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QUESTION 1

A large entertainment venue needs a location-based solution to enhance the guest experience, and you have
recommended Aruba Meridian and beacons. What is one benefit of Meridian that you should emphasize?

A. It integrates with Aruba ClearPass to track users\\' location and log suspicious activity, this improves the security of
the venue and protects the customer\\'s assets.

B. It provides proactive testing of the performance of the guest user network, which ensures that guests have a good
experience and are satisfied.

C. It has built-in Bluetooth-based analytics, which give the customer more insight into how guests are using the space
and interacting with the venue\\'s mobile app.

D. It delivers wayfinding services based on GPS. Because GPS is the best option for large indoor environments, guests
have a better experience.

Correct Answer: C

QUESTION 2
How does Presence Analytics add value to the Aruba Central solution?

A. It measures device dwell time and frequency of users at a given location to provide insights into customer
engagements

B. It uses Aruba beacons to provide location-based services, such as Blue Dot wayfinding, to increase customer
satisfaction

C. It uses machine learning analytics to identify network issues before they cause issues for users
D. It provides complete visibility into the health of the network and end-user experience to reduce help desk tickets
Correct Answer: A

Reference: https://dustinweb.azureedge.net/media/360891/aruba-central-device-management-token-1lyear.pdf

QUESTION 3

Which 8400 switch software tool helps network administrators avoid configuration errors?
A. Aruba NetEdit

B. Time-series database

C. Zero-Touch Provisioning

D. HPE Smart Rate Ports

Correct Answer: A

HPE2-W02 VCE Dumps | HPE2-WO02 Practice Test | HPE2-WO02 Braindumps 2/3


https://www.geekcert.com/hpe2-w02.html
https://www.geekcert.com/hpe2-w02.html
https://www.geekcert.com/hpe2-w02.html

VCE & PDF https://www.geekcert.com/hpe2-w02.html
2024 Latest geekcert HPE2-W02 PDF and VCE dumps Download

GeekCert.com

QUESTION 4

An SMB has ArubaOS switches and Aruba Instant APs. The company is growing and wants to simplify
deploying and managing the infrastructure devices.

What should you explain?

A. Aruba switches and APs can integrate with third-party SEIM solutions to simplify management.

B. Aruba AirWave is specifically designed as a management tool for SMB customers such as this.

C. Aruba Mobility Master (MM) can manage the Instant APs and simplify deployment.

D. Aruba Central provides simple cloud-based management and Zero Touch Provisioning (ZTP).

Correct Answer: D

QUESTION 5
As customers deploy more Internet of Things (loT) devices, what is one implication for potential Aruba customers?

A. Continuous monitoring and NAC cannot detect to loT devices because they do not appear like mobile and BYOD
devices on network management software.

B. Most 10T devices introduce vulnerabilities because they don\\'t utilize any standard set of security defenses.

C. 10T devices require special management software because they use different wireless standards than the standards
that most wireless devices are built for.

D. IoT devices require cloud management and data storage, so customers need to have a hybrid infrastructure in place.

Correct Answer: B
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